

STABILITY OF UNCONDITIONAL CONVERGENCE
ALMOST EVERYWHERE

B. S. Kashin

UDC 517.5

We will investigate the properties of series of functions which are unconditionally convergent almost everywhere on $[0, 1]$. We will establish the following theorem: If the series $\sum_{k=1}^{\infty} f_k(x)$ converges unconditionally almost everywhere, then there exists a sequence $\{\beta_k\}_{k=1}^{\infty}, \beta_k \uparrow \infty$ such that if $\lambda_k \leq \beta_k, k = 1, 2, \dots$, the series $\sum_{k=1}^{\infty} \lambda_k f_k(x)$ converges unconditionally almost everywhere.

We begin by recalling some definitions.

Let B be a Banach space. A series

$$\sum_{k=1}^{\infty} x_k \quad (x_k \in B) \quad (1)$$

is said to be unconditionally convergent if it converges (in the norm of B) after an arbitrary permutation of its terms. Suppose that we are given a series

$$\sum_{k=1}^{\infty} f_k(x), \quad (2)$$

where the $f_k(x)$ ($k = 1, 2, \dots$) are measurable functions defined on a set $E \subset (-\infty, \infty)$ and are finite almost everywhere. The series (2) is said to be unconditionally convergent almost everywhere on E (a.e. on E) if after each permutation of its terms the resulting series

$$\sum_{k=1}^{\infty} f_{n_k}(x) \quad (3)$$

converges almost everywhere on E . Here the set (of measure zero) of points of divergence of the series (3) depends on the permutation $\{n_k\}$.

Orlicz (see [1]) showed that the series (1) is unconditionally convergent if and only if each of the following partial sums is convergent (in B):

$$\sum_{k=1}^{\infty} x_{p_k} \quad (p_1 < p_2 < \dots).$$

It follows that convergence of the series

$$\sum_{k=1}^{\infty} \varepsilon_k x_k \quad (4)$$

for arbitrary choices of $\varepsilon_k = \pm 1$ is equivalent to unconditional convergence of the series (1). The analogous assertion is true for unconditional convergence in measure for series of the form (2) (see Orlicz [3]). By using convergence of all series of the form (4) we can show that if the series (1) is unconditionally convergent, then the series

$$\sum_{k=1}^{\infty} \lambda_k x_k$$

is also unconditionally convergent for arbitrary $\{\lambda_k\}$ with $|\lambda_k| \leq c = \text{const}$ ($k = 1, 2, \dots$).

Moscow State University. Translated from *Matematicheskie Zametki*, Vol. 14, No. 5, pp. 645-654, November, 1973. Original article submitted March 21, 1973.

© 1974 Consultants Bureau, a division of Plenum Publishing Corporation, 227 West 17th Street, New York, N. Y. 10011. No part of this publication may be reproduced, stored in a retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, microfilming, recording or otherwise, without written permission of the publisher. A copy of this article is available from the publisher for \$15.00.

Similar questions can be asked concerning series of the form (2). It is clear that if the series (2) is unconditionally convergent almost everywhere on E, the series

$$\sum_{k=1}^{\infty} \varepsilon_k f_k(x) \quad (5)$$

converges almost everywhere on E for an arbitrary choice of the sequence $\{\varepsilon_k\}_{k=1}^{\infty}$, where $\varepsilon_k = \pm 1$. For a long time it was not known whether convergence almost everywhere on E of all series of the form (5) was a sufficient condition for unconditional convergence almost everywhere of the series (2). A negative answer to this question was given by Ul'yanov (see [2], Theorem 5). This fact indicates the principal difference between unconditional convergence of series in a Banach space and unconditional convergence almost everywhere. Ul'yanov has communicated the following problem to us. If the series (2) is unconditionally convergent almost everywhere on a set E, does every series

$$\sum_{k=1}^{\infty} \lambda_k f_k(x) \quad (6)$$

with $|\lambda_k| \leq c = \text{const} < \infty$ ($k = 1, 2, \dots$) have the same property?

In this article we give a positive answer to the above question.

THEOREM 1. If the series (2) converges unconditionally almost everywhere on a set E, then for each sequence $\{\lambda_k\}_{k=1}^{\infty} \in l_{\infty}$ the series (6) also converges unconditionally almost everywhere on E.

It is clear that unconditional convergence a.e. on E of the series (2) is equivalent to unconditional convergence a.e. on E of all series of the form (5). Therefore Theorem 1 is a corollary of the following result.

THEOREM 2. Suppose that the series (5) converges a.e. on E for each choice of $\varepsilon_k = \pm 1$ ($k = 1, 2, \dots$). Then the series (6) converges a.e. on E for each $\{\lambda_k\}_{k=1}^{\infty} \in l_{\infty}$.

For the proof of Theorem 2 we first establish the following result.

LEMMA. Suppose that we are given functions $f_i(x) \in L^2(E)$ ($1 \leq i \leq m$) and numbers λ_i with $|\lambda_i| \leq 1$ for $1 \leq i \leq m$. Then there exists a set of $\varepsilon_i = \pm 1$ ($1 \leq i \leq m$) such that

$$\left\| \sum_{i=1}^k \lambda_i f_i - \sum_{i=1}^k \varepsilon_i f_i \right\|_{L^2(E)}^2 \leq 4 \sum_{i=1}^k \|f_i\|_{L^2(E)}^2 \quad \text{for } 1 \leq k \leq m. \quad (7)$$

The lemma will be proved by induction. For $k = 1$ the result is clear. Let $1 \leq k < m$ and let $\varepsilon_i = \pm 1$ with $1 \leq i \leq k$ be chosen such that (7) is true. If we set

$$g = \sum_{i=1}^k \lambda_i f_i - \sum_{i=1}^k \varepsilon_i f_i,$$

we obtain

$$\begin{aligned} \sum_{i=1}^{k+1} \lambda_i f_i - \sum_{i=1}^k \varepsilon_i f_i - f_{k+1} &= g + (\lambda_{k+1} - 1) f_{k+1} \quad (\text{here } \varepsilon_{k+1} = 1), \\ \sum_{i=1}^{k+1} \lambda_i f_i - \sum_{i=1}^k \varepsilon_i f_i + f_{k+1} &= g + (\lambda_{k+1} + 1) f_{k+1} \quad (\text{here } \varepsilon_{k+1} = -1), \end{aligned}$$

where, by assumption, we have

$$\|g\|_{L^2}^2 \leq 4 \sum_{i=1}^k \|f_i\|_{L^2}^2. \quad (8)$$

It suffices to show [see (8)] that either

$$\|g + (\lambda_{k+1} - 1) f_{k+1}\|_{L^2}^2 \leq \|g\|_{L^2}^2 + 4 \|f_{k+1}\|_{L^2}^2 \leq 4 \sum_{i=1}^{k+1} \|f_i\|_{L^2}^2$$

or

$$\|g + (\lambda_{k+1} + 1) f_{k+1}\|_{L^2}^2 \leq \|g\|_{L^2}^2 + 4 \|f_{k+1}\|_{L^2}^2 \leq 4 \sum_{i=1}^{k+1} \|f_i\|_{L^2}^2,$$

but

$$\begin{aligned} \|g + (\lambda_{k+1} - 1) f_{k+1}\|_{L^2}^2 &\leq \int_E (g + (\lambda_{k+1} - 1) f_{k+1})^2 dx = \\ &= \int_E g^2 dx + (\lambda_{k+1} - 1)^2 \int_E f_{k+1}^2 dx + 2(\lambda_{k+1} - 1) \int_E fg dx \leq \\ &\leq \|g\|_{L^2}^2 + 4 \|f_{k+1}\|_{L^2}^2 + 2(\lambda_{k+1} - 1) \int_E fg dx. \end{aligned} \quad (9)$$

Analogously

$$\|g + (\lambda_{k+1} + 1)f_{k+1}\|_{L^2}^2 \leq \|g\|_{L^2}^2 + 4\|f_{k+1}\|_{L^2}^2 + 2(\lambda_{k+1} + 1) \int_E fg \, dx. \quad (9')$$

Since $|\lambda_{k+1}| < 1$, either $2(\lambda_{k+1} - 1) \int_E fg \, dx \leq 0$ or $2(\lambda_{k+1} + 1) \int_E fg \, dx \leq 0$. But then from (9) and (9') it follows that either

$$\|g + (\lambda_{k+1} - 1)f_{k+1}\|_{L^2}^2 \leq \|g\|_{L^2}^2 + 4\|f_{k+1}\|_{L^2}^2$$

or

$$\|g + (\lambda_{k+1} + 1)f_{k+1}\|_{L^2}^2 \leq \|g\|_{L^2}^2 + 4\|f_{k+1}\|_{L^2}^2.$$

The lemma is proved.

Proof of Theorem 2. Without loss of generality we can assume that $E = [0, 1]$. Suppose that Theorem 2 is false. Then there exists a series of the form (2) for which all of the series (5) converge a.e. on $[0, 1]$ but for some $\{\lambda_k\} \in l_\infty$ with $|\lambda_k| \leq 1$ ($k = 1, 2, \dots$) the series (6) diverges at each point of some set $A \subset [0, 1]$ with $\mu A > 0$. By a theorem of Orlicz (see [3]) the convergence of all of the series (5) implies that

$$\sum_{k=1}^{\infty} f_k^2(x) < \infty \text{ for almost all } x \in [0, 1]. \text{ Thus there exists a set } A_1 \subset [0, 1] \text{ such that } \mu A_1 > 1 - \mu A \text{ and } \sum_{k=1}^{\infty} \int_{A_1} f_k^2(x) < \infty.$$

We set $A_2 = A \cdot A_1$ and $g_k(x) = f_k(x) \cdot \chi_{A_1}(x)$, where $\chi_{A_1}(x)$ is the characteristic function of the set A_1 . Then we have

$$\left. \begin{array}{l} \text{a) the series } \sum_{k=1}^{\infty} \varepsilon_k g_k(x) \text{ converges a.e. on } [0, 1] \text{ for arbitrary } \varepsilon_k = \pm 1, \\ \text{b) the series } \sum_{k=1}^{\infty} \lambda_k g_k(x) \text{ diverges at each point of } A_2, \text{ where } \mu A_2 > 0, \\ \text{c) } \sum_{k=1}^{\infty} \|g_k\|_{L^2(0,1)}^2 < \infty. \end{array} \right\} \quad (10)$$

We will show that the three statements in (10) cannot be true simultaneously. We will find a contradiction. First we note that part b) of (10) implies that there exists a number $\varepsilon_0 > 0$, a set $A_3 \subset A_2$ with $\mu A_3 > 0$, a sequence of natural numbers $1 = M_1 < \dots < M_\nu < \dots$, and a sequence of measurable functions $N_\nu(x)$ on $[0, 1]$ with $M_\nu \leq N_\nu(x) < M_{\nu+1}$ such that

$$\left| \sum_{k=M_\nu}^{N_\nu(x)} \lambda_k g_k(x) \right| \geq \varepsilon_0 \quad \text{for all } \left\{ \begin{array}{l} x \in A_3, \\ \nu = 1, 2, \dots \end{array} \right. \quad (11)$$

(see [4], pp. 817-819).

Let

$$\delta_\nu = \sum_{k=M_\nu}^{M_{\nu+1}-1} \|g_k\|_{L^2(0,1)}^2 \quad (\nu = 1, 2, \dots).$$

From part c) of (10) it follows that $\delta_\nu \rightarrow 0$ as $\nu \rightarrow \infty$. We fix ν . We introduce a sequence of functions $U_k(x)$ with $M_\nu \leq k < M_{\nu+1}$, by setting for each $x \in [0, 1]$

$$U_k(x) = \begin{cases} g_k(x) & \text{for } k \leq N_\nu(x), \\ 0 & \text{for } k > N_\nu(x). \end{cases} \quad (12)$$

The functions $U_k(x)$ are measurable on $[0, 1]$ since the functions $N_\nu(x)$ are measurable. From the definition of $U_k(x)$ it follows that [see (11)]

$$\left| \sum_{k=M_\nu}^{M_{\nu+1}-1} \lambda_k U_k(x) \right| \geq \varepsilon_0 \quad \text{for } x \in A_3. \quad (13)$$

By virtue of the Lemma there exists a sequence $\{\varepsilon_k\}_{M_\nu}^{M_{\nu+1}-1}$ with $\varepsilon_k = \pm 1$ such that [see (12)]

$$\left\| \sum_{k=M_\nu}^{M_{\nu+1}-1} \lambda_k U_k(x) - \sum_{k=M_\nu}^{M_{\nu+1}-1} \varepsilon_k U_k(x) \right\|_{L^2(0,1)}^2 \leq 4 \sum_{k=M_\nu}^{M_{\nu+1}-1} \|U_k\|_{L^2}^2 \leq 4 \sum_{k=M_\nu}^{M_{\nu+1}-1} \|g_k(x)\|_{L^2(0,1)}^2 = 4\delta_\nu.$$

Hence by the Chebyshev inequality we have

$$\mu \mathcal{J}_\nu \equiv \mu \left\{ x \in [0, 1], \left| \sum_{k=M_\nu}^{M_{\nu+1}-1} \lambda_k U_k(x) - \sum_{k=M_\nu}^{M_{\nu+1}-1} \varepsilon_k U_k(x) \right| > \frac{\varepsilon_0}{2} \right\} < 4\delta_\nu \left(\frac{2}{\varepsilon_0} \right)^2.$$

But $\delta_\nu \rightarrow 0$ and therefore $\mu \mathcal{J}_\nu < \frac{1}{2} \mu A_3$ for $\nu > \nu_0$.

Thus it follows that

$$\left| \sum_{k=M_\nu}^{M_{\nu+1}-1} \lambda_k U_k(x) - \sum_{k=M_\nu}^{M_{\nu+1}-1} \varepsilon_k U_k(x) \right| \leq \frac{\varepsilon_0}{2} \quad (14)$$

for $x \in A_3 - \mathcal{J}_\nu$ and $\nu > \nu_0$.

From (13) and (14) we have

$$\left| \sum_{k=M_\nu}^{M_{\nu+1}-1} \varepsilon_k U_k(x) \right| \geq \frac{\varepsilon_0}{2} \quad \text{for } x \in A_3 - \mathcal{J}_\nu \text{ and } \nu > \nu_0$$

or [see (12)]

$$\left| \sum_{k=M_\nu}^{N_\nu(x)} \varepsilon_k g_k(x) \right| \geq \frac{\varepsilon_0}{2} \quad \text{for } x \in A_3 - \mathcal{J}_\nu \text{ and } \nu > \nu_0. \quad (15)$$

Let $D = \overline{\lim}_{\nu \rightarrow \infty} (A_3 - \mathcal{J}_\nu)$. Since $\mu(A_3 - \mathcal{J}_\nu) \geq \frac{1}{2} \mu A_3$ for $\nu \geq \nu_0$, we have $\mu D \geq \frac{1}{2} \mu A_3$.

For each $\nu = 1, 2, \dots$ we have constructed a sequence $\{\varepsilon_k\}_{k=M_\nu}^{M_{\nu+1}-1}$ and thus we have constructed a series $\sum_{k=1}^{\infty} \varepsilon_k g_k(x)$, which [see (15)] diverges at each point of D , which contradicts part a) of (10).

The theorem is proved.

COROLLARY. If the hypothesis of Theorem 2 is satisfied, there exists a sequence $\{\beta_k\}_{k=1}^{\infty}$ with $\beta_k \uparrow \infty$ as $k \rightarrow \infty$, for which the series $\sum_{k=1}^{\infty} \lambda_k f_k(x)$ converges a.e. on E if $|\lambda_k| \leq \beta_k$ ($k = 1, 2, \dots$).

Remark. By virtue of the lemma we can show that if the series (2) converges in measure on E for each choice of signs, then the series (6) converges in measure on E for each $\{\lambda_k\} \in l_\infty$.

It is well known that convergence in measure of a sequence of measurable functions defined on $(0, 1)$ can be described by a metric. For instance, we can let the distance be given by

$$\rho(f, g) = \int_0^1 \frac{|f(x) - g(x)|}{1 + |f(x) - g(x)|} dx. \quad (16)$$

It is easy to see that the series (2) converges almost everywhere on $(0, 1)$ if and only if for each $\varepsilon > 0$ there exists a number $\tilde{N}_0 = \tilde{N}_0(\varepsilon)$ such that

$$\rho\left(0, \sum_{k=M}^{N(x)} f_k(x)\right) < \varepsilon \quad \text{for each number } M > \tilde{N}_0 \quad (17)$$

and each bounded, integer-valued, measurable function $N(x)$ on $[0, 1]$ for which $N(x) \geq M$ for $x \in [0, 1]$.

THEOREM 3. Suppose that the series (2) is unconditionally convergent almost everywhere on $(0, 1)$. Then there exists a sequence $\{\beta_k\}_{k=1}^{\infty}$ with $\beta_k \uparrow \infty$ as $k \rightarrow \infty$ such that the series (6) is unconditionally convergent a.e. on $(0, 1)$ if

$$|\lambda_k| \leq |\beta_k| \quad \text{for } k \geq 1.$$

Proof. By virtue of Theorem 1 it suffices to find a sequence $\{\beta_k\}_{k=1}^{\infty}$ with $\beta_k \uparrow \infty$ as $k \rightarrow \infty$ such that the series

$$\sum_{k=1}^{\infty} \beta_k f_k(x) \quad (18)$$

converges unconditionally almost everywhere on $(0, 1)$. We construct such a sequence $\{\beta_k\}_{k=1}^{\infty}$. Unconditional convergence a.e. of the series (2) implies [see (17)] that for each $\varepsilon > 0$ there exists $N_0 = N_0(\varepsilon)$ such that for each permutation $\{n_k\}_{k=1}^{\infty}$ the distance

$$\rho\left(0, \sum_{k=M_1(x)}^{M_2(x)} f_{n_k}(x)\right) < \varepsilon \quad (19)$$

for arbitrary integer-valued, bounded, measurable functions $M_1(x)$ and $M_2(x)$ satisfying the conditions

$$M_1(x) \leq M_2(x) \text{ and } n_k \geq N_0$$

for

$$M_1(x) \leq k \leq M_2(x), \quad x \in [0, 1].$$

Let

$$N_\nu = N_0 (3^{-\nu}), \quad 1 \leq \nu < \infty.$$

We can assume that $N_1 < N_2 < \dots$. We set $\beta_k = \nu$ for $N_\nu \leq k < N_{\nu+1}$.

We will show that the series (18) converges unconditionally a.e. on $(0, 1)$. Suppose the contrary; that is, suppose there exists a permutation such that the series

$$\sum_{k=1}^{\infty} \beta_{m_k} f_{m_k}(x)$$

does not converge a.e. on $(0, 1)$. Then [see (17)] there exist a number $\varepsilon > 0$, natural numbers $M_\nu (\nu = 1, 2, \dots)$, and measurable integer-valued functions $N_\nu(x) (\nu = 1, 2, \dots)$ for which

$$\rho \left(0, \sum_{k=M_\nu}^{N_\nu(x)} \beta_{m_k} f_{m_k}(x) \right) > \varepsilon_0,$$

$$M_\nu \leq N_\nu(x) < M_{\nu+1} \quad \text{for } x \in [0, 1], \nu = 1, 2, \dots \quad (20)$$

We pick a natural number such that $2^{-s} < \varepsilon_0$. There exists ν_0 such that $m_k > N_s$ for all $k \geq M_{\nu_0}$.

It is then clear that

$$F(x) \equiv \sum_{k=M_{\nu_0}}^{N_{\nu_0}(x)} \beta_{m_k} f_{m_k}(x) = \sum_{j=s}^{\infty} \sum_{\substack{k=M_{\nu_0} \\ N_j \leq m_k < N_{j+1}}}^{N_{\nu_0}(x)} \beta_{m_k} f_{m_k}(x) \equiv \sum_{j=s}^{\infty} A_j(x). \quad (21)$$

In Eq. (21) the inner sum for $A_j(x)$ can be written in the form

$$A_j(x) = \sum_{k=R_j(x)}^{R'_j(x)} \beta_{p_k} f_{p_k}(x),$$

where $\{p_k\}_{k=1}^{\infty}$ is some permutation of the natural numbers, and the bounded, integer-valued, measurable functions $R_j(x)$ and $R'_j(x)$ satisfy the inequalities $R_j(x) \leq R'_j(x)$ and $N_j \leq p_k < N_{j+1}$ for $R_j(x) \leq k \leq R'_j(x)$ if $x \in [0, 1]$ and $j \geq s$.

By virtue of the definition of the sequence $\{\beta_k\}$ the functions

$$A_j(x) = j \sum_{k=R_j(x)}^{R'_j(x)} f_{p_k}(x) \quad (j \geq s). \quad (22)$$

Furthermore, the function $\rho(f, g)$ has the properties [see (16)]

$$\rho(0, f + g) \leq \rho(0, f) + \rho(0, g)$$

and

$$\rho(0, jf) \leq j\rho(0, f) \quad (j = 1, 2, \dots),$$

and therefore [see (19), (21), and (22)]

$$\rho(0, F) \leq \sum_{j=s}^{\infty} \rho(0, A_j) \leq \sum_{j=s}^{\infty} j\rho \left(0, \sum_{k=R_j(x)}^{R'_j(x)} f_{p_k}(x) \right) \leq \sum_{j=s}^{\infty} j \cdot \frac{1}{3^j} < \frac{1}{2^s} < \varepsilon_0,$$

which contradicts (20) for $\nu = \nu_0$. The proof is complete.

The author wishes to thank Professor P. L. Ul'yanov for his help.

LITERATURE CITED

1. S. Kaczmarz and H. Steinhaus, *Theorie der Orthogonalreihen*, Monografie Matematyczne, Vol. 6, Chelsea Publishing, New York (1951).

2. P. L. Ul'yanov, "Divergent Fourier series of the class $LP(p \geq 2)$," Dokl. Akad. Nauk SSSR, 137, No. 4, 786-789 (1961).
3. W. Orlicz, "Über die Divergenz von allgemeinen Orthogonalreihen," Studia Math., 4, 27-32 (1933).
4. P. L. Ul'yanov, "Unconditional convergence and divergence," Izv. Akad. Nauk SSSR, Ser. Matem., 22, 811-840 (1958).